Adda

24

BMRCL

Previous Year Paper

Maintainers 18 Sept, 2016

GET IT ON
Google Play


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

AddaR247

DATE SUBJECT TIME
18-09-2016 MAINTAINERS 10.00 A.M. TO 12.30 P.M.
MAXIMUM TOTAL MAXIMUM TIME FOR
MARKS DURATION ANSWERING
100 150 MINUTES 120 MINUTES
MENTION YOUR QUESTION BOOKLET DETAILS
CENTRE CODE QUESTION BOOKLET SERIAL NO. &
VERSION NO.
| | | | XXX XXX

DOs:

1. Check whether the Register No. has been entered and shaded in the respective circles on the OMR answer sheet.

2. Check whether the Centre Code has been entered and shaded in the respective circles on the OMR answer sheet.

3. This Question Booklet is issued to you by the invigilator after the 2nd Bell i.e., after 10.15 a.m.
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that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test
booklet. Read each item and start answering on the OMR answer sheet.
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What is the minimum age for eligibility to
1. votein India ?

GET IT ON
Google Play

4. The United Nations Organization (UNO) has
its headquarters in city.

23903e0d a&mdﬁrﬁ%}@m D3 TBW
ARDBBIDS By S0DIY,

(A) 21 years
21 IRENLD

(B) 20 years
20 IRENLD

(C) 18 years
18 IRENK

(D) 19 years
19 IRBENKD

. In Metric system 1 H.P. is equals to
DY JITY 1 (BeF. D) 03,337
BT I ?
(A) 746 watts
746 YL
(B) 735.5 watts
735.5 TEF

(C) 1000 watts
1000 293¢,

(D) 746 k watts
746 3e3pe ADRZ S

. An optical fibre is a transparent rod usually
made of .

0B P00 IODS TeCBBES B0
pAERVLl aiyocs ToN,AMOT
Ba0RTrH3T 2
(A) clear plastic

SO0 T
(B) glass

artyl
(C) copper

P el

(D) silica
QOB

ABToFad (UNO) Bme Sefedadn 85 39N
0o INTBOT 2
(A) Washington D.C.
Todond® 8
(B) Geneva
BJewe

(C) Berne
ARV

(D) New York
S 03re5'E

. The 200 KVA Transformer is operating on 440

V, 0.85 power factor, then the rating of
Transformer in "kW" is

440 Vv, 085 TIO° FyBO' TQ I
ATEHDADS 200 Bl  IOI3eBT
mdocﬁémdg 3edpe masaa‘ SO 20O

(A) 2.2 kW
2.2 35y

(B) 170 kW
170 Sy

(C) 88,000 KW
88,000 a3

(D) 235.29 kW
235.29 da3ey

. Which of the following is a term used in

Cricket ?
8 BINS ed IBY  BEF esasdeg

QPIO DST ?

(A) Bull's eye
AV

(B) Fine leg
Py St

(C) Love
O°

(D) Ace
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ORF DL ¥YINY IBI
7. What is the maximum number of steps in one (A) Lower deviation
flight ? 33, Bedobeay®

Sdend w0l TOIY 1O

— (B) Upper deviation
el eorih adhas

nog, Bedodear’

(A)18 (C) Actual deviation
(B) 15 €389, A BedabeR~®
(€) 20 (D) Mean deviation
(D) 12 DEF Bedobesn’
8. Who is the Chairman of the Lok Sabha ? )
Ss 2UASS3O B 11. A JFET consists of
° Bor'ad PP oI D
dfaeéﬁmdégmﬁd)agd 2
(A) Source, Drain and gate.
(A) The Speaker e, B, D) riees
3 & edoF T

(B) Anode, Cathode and gate.

(B) The President OR0eT, BTG DR) riees”

oaa&gaé
(C) Base, Emitter and Collector.

(C) The Prime Minister 236, QDT DI 3B OF

P oS,
o (D) B1, B2 and Emitter.
(D) The Home Minister D 1,9 2 DR DD
@0,
12. The maximum temperature of class "E"
9. The portion where we place our foot while insulations is
ascending and descending is called Snr @ VTIBERW STDEPYLRTS B3¢
DBNYR)  odTon DA evadven
* = Bad) eVF3 0TT
DTAFSY VWS Ny, Q0T
BBdw3es (A) 180 °C
- (B) 120 °C
(A) Riser (C) 105 °C
QBN (D) 90 °C
(B) Tread 13. For speed control of D.C. motors, the field
DY BN control method gives the speed
9,
(C) Nosing e JW e 30 Ao Heer Boedr;ees
1300 Q3008 Jent A0DoE,ATT A Sen ?
(D) Blocks (A) Above the rated
306} T, Serd, 03 Hed),
10. The algebraic difference between the (B) Below the rated
maximum limit to the basic size is called oo Serid, 03 BB

B v BIF B ITUID) 10T DS

(C) Remains same
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oY WTLTITEH Q)

(D) Becomes zero
B DrHIT
14. Ammeter is always connected in
roenie ©DEtt ) BIT, eI
QAT

(A) Parallel to supply
5,1t Jeveo3TezeN

(B) Series with load
e 11 dedes® 3N

(C) Across to load
dped® it 959* N

(D) Series—parallel connected
Qedexk mzsddos esf

15. For riveting a round head rivet hammer used
IS

3)395900 BJad OAeF I Be3on® 11 adyecs
DIrToDY sVB03eeNTIT ?
(A) Cross peen hammer
B9)° e AN
(B) Sledge hammer
e Dt
(C) Ball peen hammer
90 dex® DAN
(D) Claw hammer
S’ A
16. Working principle of micro meter is
0, B0)eceE30° SoaheFS (SoodeS3))
(A) Sliding system
B0t d,I*
(B) Bolt and Nut system
dpee’ D) I3 A, F
(C) Cam system
5B’ AP *

(D) Rack and pinion
755 D) DAODRF

GET IT ON
Google Play

17. Which is not the property of a coolant ?
adroc3 rHENTDE BeeJoes® FOLZHDY ?

(A) High cooling capacity between tool and
work.

3D (BOI) DB e NY IBDI T,
B3RO B33

(B) Clear visibility between tool and work.
3 (BoR) DA Lwer 1Y IS JOWrN
BILVYT)

(C) Effective to skin and work.
BE DR) BOITB, S 0BT LT

(D) Increase the life of tool.
300 8 J,5° TDHIYHD

18. Lubrication is done in the machine to reduce
aboz3 3 axasﬁobﬁg( 3&333 DD @dﬁg( 38D
DIRD WS

(A) The friction of sliding parts or Mating
parts. 0T DEINNY 35,3

(B) The raising temperature between tool &
work, SR DB et 1Y IBDS YLIB,REE

(QVFTR) BAID

(C) The free movement of the sliding parts. e
Swee* 2ot 8z’ O J,Bor’ wee3' ¢

(D) None of these
QINLO ddroYycde
19. The median of the data : 26, 31, 33, 37, 43,
38,42 is
8 T303 26, 31, 33, 37, 43, 38, 42 N¥

533,08 (DeBOHRY)

(A) 37
(B) 26
(C) 43
(D) 35

20. A temporary pier made in the river bed is
called

SBab  AFg  Seme03Ton  @eld
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ﬁe&uoddﬁ.&

(A) Pillar
oW

Q0 3BANTIT.

(B) Parapet wall
BDodrteed

(C) Caisson
RS DI

(D) Cribs
Beedrt
21. The L.C.Mof a’b+ab’and a’ +a’bis
a'b+ab! DD 3’ + 2% VINY VT
(A) a’b(a+b)
(B) a’b*(a+b)
(C) a*b(a—b)
(D) ab (a + b)

22. The circuit used to get a purer DC output

from a rectifier is known as

B3a,000° dod I0DF BI Ber* Yes’
BE0hey HVBdeENDE JBRFEF I BID

(A) converter
BR,EE0°

(B) commutator
SR E3e30°

(C) inverter
Q,EIET

(D) ripple filter
0z & H0°
23. Simplified value of (1—sin*A) (1+tan’A)is
(1—sin *A) (1+tan’A) BT STY 3
(A)1
(B)-1
(C)2
(D)0
24. Bay window projecting in buildingis

GET IT ON
Google Play

Je 8w BuTIT  rleeddbos i
230uEROBIIE

(A) Inward
weNad

(B) Outward
TPTNA

(C) Backward
oyn

(D) Proportional
TBE),

25. The teeth of hacksaw blade are bent
nonsa asmas mﬂmw NI

(A) Towards right
wodR

(B) Towards left
AxtAlalal

(C) Alternatively towards right and left
QWD DR dBVAT

(D) May be bent in any direction
0eYWerTe B3,TO erhHTD

26. A tower stands vertically on the ground from
a point on the ground, which is 50 m away
from the foot of the tower, the angle of
elevation to the top of the tower is 30° , then
the height of the tower is

50 m BRJOJ0TB ©omN AoSVT 0T
JoIBD, NDAITOR BVoEIT VIS
BRedF) 30° 8TT &8 JoBIT 93T

(A) 50 m

B

(B) g .

(€)50 .f3m

(D) 30

B

27. The choke of fluorescent lamp is an example
of

BRTVJ0e¥ DeDTIDS deed® e STHET
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edeed it VTIBTEH ?

(A) Resistive load
B’ deerd®

(B) Capacitive load
B edeerd

(C) Inductive load
QOB e

(D) Electrical load
aaejc%&gsv‘ edoed®

28. Name the only Kannadiga to have become the
Prime Minister of India

B BYNR 0393 B BN I, TeBB FTOR
oG araNGD 2

(A) Deve Gowda H.D
TeF. B. deSernod

(B) S.M. Krishna
OFF. 0. B)F

(C) Ramakrishna Hegde
DBy E BT

(D) B.D. Jatti
D. 8238

29. The ratio of ON-time of a pulse to the OFF-
time of the pulse is known as

B8 3,3 D, D) B87° 3D I I
SIMGPIEI) Q0 3BAWSIT

(A) PRF
A, e30°. OFF,

(B) Duty cycle
= IORXEC D)

(C) Time cycle
£3,° B

(D) ON cycle
B8 Jze°

30. Which one is not an A.C. motor starter ?
< 8@ﬁda’g)ﬁ@eg AIRIYD DD Jeee30¢

mdas?o‘ Q) ?

GET IT ON
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(A) D.O.L. Starter
8. &, OUF, T30

(B) Star—delta starter
T9,0° - B9, T9,63¢0°
(C) Rotor resistance starter
Tee30’ BART R, T9360°

(D) Three point starter
3yt — oo T E3FT°

31. Vvalue of 7R is
7P, b 23¢3
(A) 35
(B) 840
(C) 630
(D) 210
32. A bridge rectifier consists of
WO e &Qeadsd) om), woleer®

YY) TRoODIT ?

(A) one diode
200 BadeerE®

(B) two diodes
QTR Bodeerd

(C) three diodes
e Badwees®

(D) four diodes
Joew, Boler®

33. The most populous state of India is
03T w3z wIJoy; (BIT0T3I)

Qi)ﬁ& PO oaaszsmd)d) ?

(A) Andhra Pradesh
€305 I3

(B) Uttar Pradesh
V33 B3
(C) Bihar
AL ple]

(D) Madhya Pradesh
DT By3e3
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34. The ratio of diameter of driver and driven
pulley is called
ADNHT DA SHNDS oaeioi) mﬁcﬂ

DTS

(A) Module
Sar)y e

(B) Pitch circle diameter
D JBE DY

(C) Ratio of tension
TS I,

(D) Velocity ratio
FdE3 DT3B
35. In Construction of R.C.C. Roof slab, the
proportion is
esof. Q. . TpF® TR ﬁ&

ORTIBTY ADEITNDHST

(A)1:2:6
B)1:2:4
(C)1:4:8
(D)1:2:8
36. Nobel Prize is not given in the field of

&  BI53AT  abexmd  Fe33, Jeeafer
AL SAVEIN dd}d ARBINHZIHD) ?

(A) Physics
WPBTIR

=)
(B) Medicine

BEG ge3,

(C) Economics
@c;swmr’g)

(D) Mathematics
Ned3zos,

37. Sound travels the fastest in
ddra adw 8 3N o3 dmcjédodém @32303

SeneeN BOD3T 2

(A) Gas
OIN[S]

GET IT ON
Google Play

(B) Solid
FIIAD)

(C) Liquid
3,3

(D) Vacuum
DB R3¢

38. The time period of an Astable Multivibrator
output is given by the expression

OO DOI BT BeF [F | 3
SDOHTE Bomd HBAT T3,

(A) T=RC
(B) T=0.707 RC
(C) T=0.69RC
(D) T=1.38RC
39. All electrical measuring instruments measures

only
QUY W DeIBNWI0DI DI D

B30

(A) RMS values
e30° D0 AR ADNOM

(B) Peak values

)
e DRSOV

(C) Average values

Ve DRV

(D) Maximum values
UEICEACRADRIM
40. What is the use of seasoning of timber ?
DTS, BB eRDIBO0T suEdeenized
?
(A) Decrease the volume and weight of the
timber
OB D0ty DA SBeBTSIY  SBD

API< IS

(B) Decrease the strength of timber
DTT DT FSY BB Srerdew

(C) Decrease the hardness of timber
0B ried 0, BB SWerdew
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(D) Decrease the stiffness of timber
VT SBIY, BB Sere

41. To remove more material the file used is
adroc3 adas& éa&gﬂ e300 3riaden

VB03ReNDBIT ?

(A) Smooth file
D ®3

(B) Second cut file
QTS FSODS BT

(C) Dead smooth file
BRS D) &3

(D) Bastard file
w3 BT

42. One bag of cement consist of
000 Ao 23T
(A) 10 kgs
10 331

(B) 100 kgs
100 321K

(C) 50 kgs
50 321K

(D) 45 kgs
45 B3N

208 A3

43. The property of a material due to which it
breaks with little a permanent distortion is
called

2ol BRI
DoBHID DR
ABTNDITRY, &eriyz30

RaBREBE, o
93, 3CRBOT

(A) Brittleness
ROIeN WEWZHT)

(B) Malleability
Rad)

(C) Ductility
308 a¥aherra

(D) Plasticity

GET IT ON
Google Play

44, 18 : 4 : 1 high speed steel contains
18 : 4 1 1 &y e Aeef 8 odmeS

BpoBHIS

(A) Vanadium 4%, Chromium 18%, Tungsten
1%
BABADIF 4%, BRLDODIF 18%, 30Nt

I 1%

HDA3

(B) Vanadium 1%, Chromium 4%, Tungsten
18%
SABADIF 1%, BRLDODIF 4%, &30rF

I 18%

(C) Vanadium 18%, Chromium 1%, Tungsten
4%
SABADI® 18%, BRLDADIF 19, &30nt
O 4%

(D) Vanadium 1%, Chromium 18%, Tungsten
4%
SABADIF 1%, BRLDODIF 18%, €30n®

S 4%

45. Which of the following is the national game
of India ?

ARINYES 239033 oac’a&yeob 3ed adroYHcd ?

(A) Kabaddi
8&)&3

(B) Cricket
3B

(C) Hockey
Tod

(D) Football
REF WSk

46. 2's complement of 11100111 is
11100111 S 2's Bo0QH0es*

(A) 11100110
(B) 00011001
(C) 00011000
(D) 00011010
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47. Claw Hammer is used to remove the
59 mzsdno‘ Ri.g( (Bo DAM) oobﬁg(

deden evzadeeNDHEIT

(A) Nails
IpY

(B) Screw

3
Y

(C) Nut
e

%]

(D) Bolt
airaeejf,

48. Normalising of steel is done to
mmfdé&orf 85" e DY

(A) Refine the grain structure.
SIS 0D, 2re3sODIHT

(B) Remove the strains caused by cold working.
2e3BZALEDOT  GVOEIITI c\_")&!) FEUENY)

oA
BRI (BRTMR DY)

(C) Remove the dislocations caused in the
internal structure due to hot working.

DABLTDOT VOEIT WPTEID
m@xﬁégw 3D

(D) All of these
QINLO dVIP

49. Wood Turning Lathe used to
T DD BeJodws  aboIBY,

VR3eeNDBIT

(A) Turning the wood
DT DAY Fedabew

(B) Moulding the wood
TSI, SR B

(C) Square the wood
TSI, P8 ST

(D) Ripping
daddr\g emcgemdomﬁ afaoi)zsw

50. Which of the following is called the "Pink

GET IT ON
Google Play
City of India" ?

8 3PN bl SNBY)
SNT Sotd &ATweNT 2
(A) Udaipur
evzodh)3
(B) Raipur
00 R)3
(C) Jaipur
3,23

(D) Manipur
33

790333 e

51. Annulary rings helps to Count the age.
DOAEE WY (esmzsoa Oort) alw

SLI R, I3, TeBL Izodh SIS

(A) Tree
33

(B) Table
eBS

(C) Chair
B S

(D) Leaf
Qb

52. A couple closed roof can be used the span
upto metres.

2B0el oL mdsﬁoi)ag QLEITE

£9030BSTINR VBadeeNTBD

(A) 2.5

(B) 4.5

(C)6.5

(D) 8.5

53. Which among the following is the lightest

gas?
8 YN oozl ¥AVY) ©303 BHTDBT
?

(A) Hydrogen

® ;3R e

(B) Oxygen
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es:%oaa‘

(C) Nitrogen
59563@833)36

(D) Carbon dioxide
e T €83 ;T

= |V

54. The Members of the Lok Sabha are elected
for a period of

edRe3zye IBR0N 80D oBST wBHIY
QDI
(A) 6 years
3 IRENR
(B) 4 years
Toe), TREMR

(C) 5 years
OB TRJENR
(D) 10 years
BA) JIRENR
55. Suppose A and B together can do a job in 12
days, while B alone can finish it in 30 days,

then time taken to finish the same job by A
alone is

A DB) B R)D 00T 80&67\5& 12 BINLD
@93, B 22y e B BUIIY, 30 HINLPY
STV, A W Se B8 80563&
DPEFRITLD BRDERRNS 93Q

(A) 21 days
21 IR

(B) 42 days
42 DIND

(C) 20 days
20 AIRD

(D) 18 days
18 BINLD

56. Mortise gauge is used to mark lines
parallel to face.

o0 £3,3° riees (T2 LD Sedas riees )

10

GET IT ON
Google Play
) D Pnd  Jewereo3TeyeN
Sogfad g & DD edw
VB03eeNBIT
(A) Two
QTR

(B) One
00T

(C) Four

o,

(D) Three
S

57. The full form of SMT
AT I 3 c'.’)g)é and

(A) Surface Mount Technology
VO® PeT® 20e3¢ 53&0( (31

(B) Solder Mount Technology
TIQYT® P03 eIz R

(C) Surface Method Technology
O° FeF DFT Iz 0B

(D) Surface Mould Technology
VO° FeF WPy edzg0rd
58. The electrical safety demands a
AW DTFS W OIS, WSeZIT ?
(A) Good connection
2%,0 BIZ

(B) Good earthing
w¥ob edron®

(C) Good cleaning
%,0d) dedon’

(D) Good fixing
2,0l &3 orf

59. The popular food item "P1ZZA" originated in
the country

SNS B3 SATT
Be3003 000 ?
(A) Spain

Sedye e
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%65‘

(B) Italy
Q3O

= |V

(C) Portugal
Dpedenet

(D) France
P,

60. When the shaft is not aligned in a axis, then
the bearing used is

Do, B ©Zoedrt IDTeadriedTen arec
Jedort euzdeeNBIT 2

(A) Deep groove ball bearing
Bex® M® weesk Jedort

(B) Thrust bearing
B, e3edor®

(C) Roller bearing
Bret® 3edort

(D) Self aligning bearing
S e dort Jedorf
61. The sides of a right angled triangle containing

the right angle are 5 cm and 12 cm, then the
hypotenuse is

woTH VOWBERET SRIRTO  VOWZREIDIY
PLOENTIIRES BN 5 cm DD 12 cm
QT IBEE YL

(A) 13cm

(B) 17 cm

(C) 7cm

(D) 169 cm

62. Name the highest award for bravery in India
03T AR S DOADE B0

(A) Ashok Chakra
9ZReS 233,

(B) Mahavir Chakra
DFTET 33,

(C) Vir Chakra

11

GET IT ON
Google Play

Ae3 33,

(D) Param Vir Chakra
ST Aed 233,
63. Product of (+/6++2 Jand (+/6++2)is
(/6 +2 )R (/6+42)7¥ ToEI0Y
(A)8—-4 .3
(B)8
©)s+4 .3
D)12 .f3

64. The number of flip—flops
construct Mod-10 counter is

IRTF-10 @owd@( 3000 WeSoNDI

QT - P’ NY ﬁoa%

required to

(A) 2 o8>
(B) 4 ~oen,
(C) 3 v
(D) 5 o

65. LED TV receivers are .
QB BRITTBES 0BT M

(A) LED screen with no need of backlighting .
%02TB) VLT OOV &geas

(B) LCD  screen
backlighting.

PREART 0L LA HoSYES 2B ] exF

with  fluorescent tube

(C) LCD screen with LED backlighting.
Q' RB H0oYFIT o) B R)@ ex®

(D) LED screen with LED backlighting.
QB HOWFBIS el (%@ea‘

66. In the tail stock offset method if D = 30, d =
20 and length is 300 mm, then the offset
should be

e3;0° T93° 85° JeF IFBY D =30, d = 20
@) eugd 300 mm 8NZT, TS 8x° Je3®
AQDIT ?
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(A) 25 mm
(B) 10 mm
(C)12°
(D) 5 mm
67. Ring gauge is used to check
QDY VPISTIY OIR, VY3 BW
eV 03eeNHSIT 2

(A) Hole
3D

(B) Shaft

D

(C) Flatness
PtF I°

(D) Hole and Shaft
BRD DI DY’

= |V

*
Y

68. A dice is rolled once, then the probability of
getting an odd number is

WO TIFR) LVADRTIN 00T dﬁﬁo&%
DB VoBBNeoh S

(A)2
(B) 1

b |

€3
(D)6
69. The unit of conductance of conductor is
TBITODD DoBES,T SVTTON 09I
?
(A) Mho
3¢

(B) Henry
GINN

(C) Farad
Rplelnd

(D) Ohm
£0 (Ohm)

70. Scarfed joints used to increase

T9,0° BT 2wadhoes Rig( Ded), B
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VR03eNSIT

(A) Length
oug

(B) Width
eIne)

(C) Thickness

)
3,

(D) Angle
B0

71. The unit used for specifying the thickness of
copper foil on a PCB is

o?x%a?)ojaeg WYDT FoRT 3NBI cjo—’%dmd
Q0T VBA3RLARDT WO

(A) ounce per square foot
8 Io° ﬁ%eo‘ RpPEF
(B) micron
VTN
(C) milli-inch
DO-Q0F

(D) nano meter
SRiee et

72. On solving linear equation 7x + 5y = 10 and
3x +y =2, the value of xand y are

B3 TSV 7x + 5y = 10 DR 3x + y = 2
AYD, DBITN x D) y N 23S

(A)x=2,y=0
B) 10 _ -8
ST AT
C)x=0,y=-2
(D)x=0,y=2

73. The 2016 Olympic Games was held in which
city of Brazil ?
2016 O 00T 3ednwy welef ©3e3d

0yex INTTY ITBTY) ?

(A) Brasilia
39,0005

(B) Buenos Aires
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médw—‘ elord

= |V

(C) Santiago
méoazojnr{rae

(D) Rio De—Janeiro
Oadee B-1J3edne

74. The medicine "quinine™ is extracted from
plant.

87, BIGSY

(A) Hibiscus
Do0D0Y (S 3 )

(B) Tulsi
YD

(C) Neem
3e)

(D) Cinchona
Q0BReS

NBEQB Sricdwzad

75. For finishing operation to produce a bevelled
surface for already drilled hole is

ssmenide 3 sSNDHS Tl B BeTIeeEs
BpeIBN  abedd  dAdort  eszTeR™
BUNHBT ?

(A) Counter boring
B20e30° 2dpedort

(B) Spot facing
9,63 Fedon'

(C) Reaming
Becvore

(D) Counter sinking
B20e30° dodory

76. The popular dance form of "Kathakali"
originated in which State of India ?

méé | BE,Y maszsmg VBAAT) 20033
o3 oaa:gcief)m ?

(A) Karnataka
BEEID

(B) Kerala
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BeqY

(C) Tamil Nadu
BRI

(D) Andhra Pradesh
805, T3

77. The language spoken by the largest number of
people in the Indian sub—continent is

3908e0d VTDOBTO @32503 Ted) BID
A PICIN DI R A AP

(A) Bengali
Jorved

(B) Punjabi
Do)

(C) Hindi
0D

(D) Urdu
VTRDE

78. Who among the following is a vocal exponent
of classical music ?

8 BINSISCY  aed  zadead ofed
Mood3ED ?

(A) Bhimsen Joshi Yea3es 22pecd

(B) Praveen Godkhindi @)eea rtoedod

(C) Pt. Shivakumar Sharma
D0. dTRDIT Bef

(D) Pt. Ravishankar
®0. 8IB030

79. Which amplifier has highest efficiency and
distortion ?

3T, FOTILBS | FoDFTIFESS DR
879,83t oD 80D ;000

(A) Class "A’
PRI

(B) Class "B"
amag N 23\

(C) Class C”
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a?m(o—“(%‘

(D) Class "AB"
" Q)

= |V

80. Which country is known as the "Gift of the
Nile" ?
8 BINS abexd BeISY, * N
S50 ooth BBWIT ?
(A) Sudan
il phvd
(B) Libya
Al

(C) Egypt
‘&Z%w_f’

sz 3

(D) Ethiopia
QBo3eedod

81. The power factor (cos ¢ ) of A.C. circuit is
DaFad IS DoBVB DI FYBT* S

RS, ?
(A) Real power
cos ¢ =
Apparant power
(B) Apparant power
cos ¢ =
True power
©) Reactive power
CoSs ¢ =
Real power
(D) Reactive power

C0S ¢ = Apparant power

82. Who is known as the "Flying Sikh of India" ?
'Po0B8  TDT  AdWT oo  dredYy

30T ?

(A) Manmohan Singh
DI3eeDS dort

(B) Khuswanth Singh
& I dort

(C) Navjot Singh Siddhu
SBeiReS dor' I

(D) Milkha Singh
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83. The diameter of a cone is 14 cm and its slant
height is 10 cm, then the curved surface area
is

mzsé 14 cm DR &3 30 10 cm XS
B0 d@d)eei% e

(A) 440 cm’
(B) 220 cm?
(C) 220 mm*
(D) 220 2

84. Co-ordinates of the mid—point of the line
joining the point (-3, 10) and (6, — 8) is
(-3, 10) DR (6, -8) VoMY JFedD

Te90B3 d)cjasei)od)ci’)s NBLETI0BNR)

cZDUDm Qort

@ s,
|_‘L2 _.-‘I
(B) (-3 _1\
2
©) (3 fi
\2")
o
|_‘52 J

85. What is the formula to find output load of an
UPS ?

DR F Ve Per¥ edeer® J o
HB0E ARS) W) ?

(A) Volt x Current
Jpee) x BT0E3F

(B) Current x Load resistance
3003 x edped TAT S,

(C) Load resistance x Voltage
et BATIE x et ees

(D) Volt ampere x Power factor
e 0BT x BIOF HYBT*

86. Name the present Vice-President of India.
Y033 8N mdm%ééoﬁdd@( B0,

(A) Hamid Ansari
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DA SIp) 0

(B) Zakir Hussain
2393eT* I

= |V

(C) Najma Heptullah
5o, BR)LTD

(D) Krishan Kant
3)@ 5903

87. Which of the following is the largest Public
Sector Undertaking in India ?

Jo03BTW ToBFRIB VDT 3TRT LV
Clala]

(A) Roadways
BredTes®

(B) ONGC
L. R 2. R,
(C) Railways
O,
(D) Airways
OO° Jex®

88. The function of a diode can be compared with
a

B 00 S zoabeady B B¥sord abed
ST Foahed, BPeOTVIRTINT ?
(A) switch
Qe
(B) fuse
B
(C) inductor
QOBB 0

(D) relay
Oee3

89. Factors of x*+7x+12are
47y 412200 OBSSERAWD

(A) (x=3), (x-4)
(B) (x+3), (x +4)
C)(x+3),(x—4)
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90. A chopper is a circuit that converts
€0B0° IBYFD0BVR) DS BOBIFSaD

SoodE

(A) ACto AC
A OB D

(B) DC to DC
B od B

(C) DC to AC
B oT ad

(D) AC to DC
0D OB B

91. Smoothing plane used for giving
finishing.
Qe 3o’ TeF [,
By sumadeeNHSTIT
(A) Rough
030N

Deed & ~oN

(B) Fine
B3N

(C) Very smooth
2B BTN

(D) Very Rough
VI w0E3N

92. FM signals are generally propagate by .
ERplarlelxapial QTR0 Niphoy )
BTt RQS SToNNY T

(A) ground waves
B3R DedS 3CoNNL

(B) sky waves
35938 3T0oNNR

(C) direct waves
Jed 380NN

(D) ground reflected waves
RRDAOT B33V 0B S3CoNNW

93. In A.C. pure resistive circuit, the power factor
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is
&d@ d;aecssﬁ@d& 03, TRODDS D
33@6963’3 S II0° ®6§O€ OTINDIT ?

24

(A) Unity
A3
(B) Lagging
masﬁon‘
(C) Leading
OeBorf
(D) Zero
<o,

94. The words "Satyameva Jayate" which is
inscribed below the base of the National
Emblem of India are taken from

S@, Texee0IRB  BYT wIDDI
I3 RohS obR, e Bwewdod
Bricdeyoend 2

(A) Mahabharatha
DTIT3

(B) Manduka Upanishad
0BRB VBIRS

(C) Taittarya Upanishad
3;30ead pvaBdaRS’

(D) Ramayana
Ooyo0hed

95. Name the first Indian ever to win the Nobel
Prize.
INIOIEA LS AT ATAVPIN 53.3( nodd D

23933e0d

(A) Sir C.V. Raman
VT, Q. Q. THF

(B) Mother Teresa
T 33e9

(C) Amartya Sen
OISE Jek

(D) Rabindranath Tagore
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96. Which is the surface sources of water ?
~edR v Dee & N33

3eor)IoE E3arteen®

(A) River
Nfa)

(B) Sea
JI3WG,

(C) Well
29

(D) Infiltration well
RVRET W)
97. The filament of Electric bulb is made by
ik DeTTODI e ledlelonipierieln)
So30ahY, e SWIN0T ByeBTHTT 2

(A) Lead
&GS

(B) Tin
/D

(C) Copper
e

(D) Tungsten
£30r* B °

98. IfU={1,2,3,4,5,6,7,8, 9},
A={1,234}andB={2,4,6, 8}
Then (ANB)" is
Uu={1,23,4,56,7,8,9}

A={1,2 3, 43D B={2 4,6, 8}
s833 (A N B) =

(A) {2, 4}

(B) {1,3,5,6,7,8,9}

©) {57, 9}

(D){1,2,3,4,6,8}

99. Simple interest on ¥ 20,000 for 3 years is
4,800, then the rate of interest per annum is

00T ARFS WD ZyBeT T 20,000 VT 3
SREAYY T 4800 IV 0B NOITT A3
280 33
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(A) 12%
(B) 4%
(C) 24%
(D) 8%
100. One kilo—ohms can be expressed as
wotd dedee — o (Ohms) &) &erie

FALO[ON AT A o))

(A) 1x 10° Q
(B) 1x 107° Q
(C) 1/1000 O
(D) 10,000 O

17
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